SLIM WASHBASIN CABINET
QIwosunosansuovaivnun suaau
K-15227X/K-15228X

KOHLER.

INSTALLATION AND CARE GUIDE
Jolu:unmsaadvla:Mmsqiasnu

BEFORE YOU BEGIN

¢ Please read these instructions carefully to familiarize yourself
with the required tools, materials, and installation sequences.
Follow the sections that pertain to your particular installation.
This will help you avoid costly mistakes. In addition to proper
installation, read all operating and safety instructions.

¢ All information in these instructions is based upon the latest
product information available at the time of publication.
Kohler China. reserves the right to make changes in product
characteristics, packaging, or availability at anytime without
notice.

¢ These instructions contain important care, cleaning and warranty
information - please leave instructions for the consumer.

¢ SLIM washbasin cabinet adopts E1 grade wood-based panel
of high quality, and with further processing, its harmful
emissions will be less than 1.5 mg/L.

¢ Turn off the water supply.

e The pluming installation must comply with Water Supply
Regulations/Bye-laws, Building Regulations or any particular
regulations and practices, specified by the local water
company or water undertakers.The installation should be
carried out by a plumber.

* Before installation carefully inspect the new fixture for any
signs of damage.

ORDERING INFORMATION

This installation covers the following products in the SLIM
range:

SLIM 790 mm Washbasin Cabinet............ccccceeeeeee.. K-15227X
SLIM 990 mm Washbasin Cabinet............cccocuvvvvvnees K-15228X

SAFETY: WARNINGS

Kohler products are precision-engineered and should give

continued superior and safe performance, provided:

1.They are installed, commissioned, operated and maimtained
in accordance with the recommendation given in this Manual.

2. Periodic attention is given, as necessary, to maintain the
product in good functional order. Reccomended guidelines
are given in the MAINTAINANCE section.

Carefully inspect the new fixture for any signs of damage.

When installing Kohler Products, manufacturers guidelines for
power tool safety should be followed.

: < a &

NAULTNMIANR

. Tﬂ?mmwﬂ@LLuym’luﬂum@uuslm L@ﬂmmummwammmmmmﬂ
m_lLmiﬂ\‘iuﬂLmemﬂﬂn?mmmLﬂmqummumﬂummmmmm
ﬂgummm@LLu.ummmmm'amdLm\‘immwwaﬂmmmﬁm@wm

uanandauusinn1IRAc TﬂmmumﬂLLuvmmmnumﬂmm
uazdiauueinmuilan mmimuaﬂmmumu

. m@m’Lummummnmamm@mmmmmwmﬂumwLqmmsf»\mwmw
‘LIﬁ“lel’ﬂ mmmauawﬂumuﬂ@wuﬂmmmmarﬂﬂmm mmnmmwu
Tnefeaudalimauaamiin

o

o ArawNiERdayad ATy NETUNIIUATNEI, NINNANAZEIA
waznisiudseiu Tdsanaugiaidliungnan

e meummmmmwam @umu N@ﬁ]@’m’mﬂ%ﬂ@ﬂﬂﬂﬂiﬂ
HIRTTIU E1 LLZLVN@ﬂ?qﬂWiﬂ@ﬂﬂﬂﬁﬁﬂﬂiﬂﬂﬂﬂiﬂﬂﬂﬂmiuLﬂu
1.5 HARNTUFADARNT

¢ tandarinauiEunissiac
. u@m@mﬂwmmmmn@ﬂgummm@muumvuuﬂivmm@muum

'ﬂ’]ﬂ’]ﬁ‘ﬁﬁ‘ﬂﬂﬂﬂ’]ﬁuﬂLLNVT]{]’J“ULU?;IU'EM’] mmuum%ﬂm«,mqmm
ﬂqi‘[”lﬂﬁm‘ﬂﬂﬂi‘vﬂﬁﬁl‘ﬂ\iE’]’]Luuﬂ’]ﬂﬂﬂﬂ%‘iﬁﬂ“ﬁ’?u’?mﬂ’]i‘L‘V]’TLJ,‘LA

v
o

o AFIRAALANNLRLULUBILAAT T ADUENNIR AR

o =1

IaYAMeAITa

P o a oA a ) g L a o & _a
?J’ﬂLLuzu'lﬂ’]ﬁ‘ﬁlﬂ[?I\‘WWzﬂﬁlﬂﬂm@iﬂuﬂ?'ﬂuﬂ@qﬂﬂ\?m@mﬂmgﬂ AN
panallil:

FiaitiaafAniuanafnantii fuadn 2 790 1. ... K-15227X

FiaitiaafAniuanafnantii fuadn 2u0m 990 1. .......K-15228X
o =

ANLAB L

v v
nansTusinelaiineiuansonmaluladduganaiadaviuazainim
Waunaniuadlfedalasnstuazifindsz@nsnniile:

y .
1. 506 M uwazguaiinuwnanineindeuustinnezyliluegiie
tE
2.guaFnundndmaiiudszanialinandnddegluaninnsen
T duFuseazigaainaaiunisguainm lsagiade
“N19UingeinE”
TsnngaadauANBE M ELRINRAT U TOUENNIRAGT

memmm@mnmﬁmmiﬂm@m BIE T R IRIEAV T EAG A
mﬂmmﬂmmm\aﬂmmmimmwm

Kohler Co.

1144955-X2-B




PART IDENTIFICATION nmwuansgilnsaldsznay

Circinal Cushion

Screw M6*70
Ang M6*70

Cap for Screw

Ungang

Cap fgr Cam, White
ng, #2717

2

R/L Susp%nsion Bracket
X Tugy
e Q TANNULELNAU

Suspension Patch %}:’\ A
YBUUIU 1«
Crashworthy Cushion
0 FR9UNTTINN
Screw M5*60
&ng M5*60

K-15227X

Circinal Cushion

I LIEGRN Screw M6*70

ang M6*70

Cap for Screw
ngang

Expanding Dowel
nn i Cap for Cam, White %
> g, #1719
N X Q R/L §uspe;nsion Bracket
{f TANNURLNAY
@ 4 6 kS *}-

Suspension é / N, “
Patch }é

i
\

AALUIU Crashworthy Cushion
A9UNIZUNN

Screw M5*60
ang M5°60 0

K-15227X

1144955-X2-B 2 Kohler Co.




ROUGHING-IN
UNIT:mm
AIGHEE G
460
790
395

K-15227X
790 mm Washbasin Cabinet

Aideitiiaeidniuanedneniinunn 790 NN,

*Kohler reserves the right to change marked dlmen3|ons without prior notice.
TﬂﬁL@@m@mauwﬂumﬂﬂ@ﬂuuﬂmu mﬁimmm‘lﬁmimmqmﬂ‘wmmmmm

INSTALLATION

A. Install Washbasin Cabinet
Install the services.

e Connect hot and cold inlets to the inlet pipes correctly.

¢ |nstall the drain in accordance with the menufacturer’s
instructions.

We suggest using P-trap Drain. Connect P-trap pipe with
washbasin drain.

CAUTION: Make sure a watertight seal exisits on all
washbasin.

CAUTION: Provide access to the plumbling connections
for future plumbling maintenance.

Install the hot and cold water supplies with isolating valves.

Connect P-trap pipe with washbasin drain.
ARviaKLLaanNaN [ UYiadsARaNANIL

460

990

395

K-15228X
990 mm Washbasin Cabinet

Aidaitiaeiduiuanedneniinaunn 990 Nu.

4
Q

PALUSUIMSAAAY

a & o oga Jd o e 1 ¥ 4
n. ﬁlﬂGNQLﬂ’ﬂiuL@ﬂﬁﬂ’lﬂi‘Uﬂ'Nﬂ'Nﬂu']

miﬁmm%ﬂﬂmi
. m'aw@mi@wmVwammuslummm

e mmmm‘imﬂgummm@LLuvmmimmmmmmm@m
o YOy o ' ¥ o ' A U v v
wuzin i ldviauuueennils Aediniuviedshaasa1amii

Adan55299: Faaliuiladn n3alauniudemevieninig
& PRIAIANINTIN

v
o

C danqsszie: Aafstesdaniinguitenuazaanlunistan
gaszuutlsz

v
a o

AR a1 TAL e NINALNFaULAZIN AR TN AaNAIN T

Kohler Co.

1144955-X2-B



v v

1.Mark the position of hanging bracket according to dimensions 1. @wanauviinaziasuninlnead9deainszaznafag:
as illustrated. FNINULAAS
NOTE: Refer to “Roughing-In” for the wall bracket installation. daFILne: Basaunssalagdnedainda “eresni9fnse”

CAUTION: Avoid the cables and pipes inner set when o o ¢ e e aw
j WABAITTEAI LUALRIZIUUNUN sealprzdentn1ilauans

drilling in the wall. . ¥
viraviaunlezi
NOTE: Different types of bolts are required for different . o o s B . . o
decoration boards. Please apply suitable bolts and plugs. UBAILNA: L@@ﬂsl‘ﬂmwLL@ZV\gﬂsl‘i)lmmmNﬂumimmm
K-15227X K-15228X
. 790 . R 990
Wall Bracket [ J/ Levels [ Wall Bracket
YDUAIUNLY TLAUTIN AAUAIUELS
20 20 20 20
1 R B e — . tt—
= = =
460 460 /
Levels
TZAUMN
547 547
299 299
Finished Floor/fiu
2. Drill hole for fixing the bracket. Using a level, ensure that 2. UUNIRAMTLRAAUENE A A niuLsznavuaad adiniumia
the hanged bracket is level. nradauliudladn unsdinlfszaumingu
3.Use suitable plugs and bolts, and fix the hanged bracket ~ < My e o . .
3. faunstin irundelng luaiuazwnaunaumanzas
on the wall. \
4. Push the pin of slide door and remove the door carefully. 4. AUAANAUNAIBIUIALNUADYE AINTWNBALLIADWEANDE

PN

Push the pin and remove the slide door carefully.
AuARNUASNaALTELUABUE AN WITNATE I

1144955-X2-B 4 Kohler Co.



5.Mark the wall through two holes at the corresponding
positions as illustrated below.

Drill Hole 28 mm/111A31AE @8 Hi.

5. NLATIUNNBUAAIAUMLNG 2 UK e dneBeriumis
FUNTNUARSFNUANY

6.Dismount the washbasin cabinet and put aside. Drill holes at
the marked position.

CAUTION: Avoid the cables and pipes inner set when
drilling in the wall.

7. Insert the plug into the wall.

8. Set the washbasin cabinet onto the brackets. Besure
the cabinet adjusted level and the back board of cabinet
appressed to the wall by adjusting the screws of wall clips.

9. Tighten the screw, make sure the washbasin cabinet has
been fixed firmly on the wall.

6. nangmestlianiuazaneliding mmfungmum"mm\iﬁ

ANyl

& TaAITTZI: Lﬁ@lnguumﬂfq svinsvdanth liilauanelv
whavierinilszi

7. aunnidiniun

8. Usznaugmaifinasdintuuntiauunids fasliudlad
AilaitimesldsAuminiunniou uasurafunasTes
Aulediliaeimariunia

v
o

9. duangiuuu navaseuliiuiladiAnsisginesiliaasiniumn

B. Connect Drainage
Inwall drainage (P-Trap)

Please install the drain assembly and faucet as shown.

Please set the water supply and drainage position
according to the suppliers instructions.

2
&

Install P-Trap
ARAINBUINULLDANNUY

C o ¥
. ARNBUIYN
Viatifiauuueanuiy
TsnmnsagariatiniauazfiantinfenInuana

Ansan ez AR uMiTeiaT e N AR w1
NNIAAAILBIEHAR

Finished Wall/uily

Sliding doors
Useguuiaey

Faucgt

fiantin

Supply Lines
NaUA

Shut-off Valve
naatla-tan
Drain Assembly

Finished Floor/fi14

IATIRUNTIN
Back Board
wHUTlAnas

Kohler Co.

1144955-X2-B



C. Complete Installation

1.Install the faucet in accordance with the manufacture’s
instructions.

2.Connect the hot and cold water supplies.
3. Attach the waste pipe, and tighten securely.

4.0pen the hot and cold water valves and check the supply
connections for any leaks.

5.Run water into the washbasin or vanity top, and check the
drain connections for any leaks.

6. Install the washbasin cabinet slide door.

A. MIARAILRANYSOL

v v
o o

1. ﬁmmﬁﬂm{ﬁmm‘jﬁaLLuzﬁ’]miﬁmmmqri’g‘mEm

2. fevieri-seuuazrierinifiu

3.sznewvieriiiis

4. Alondminseunazandingu ieamasaunsiiiu
nNdasiasie]

5. 1At A4ENANUTN-819E9H e tNeRIagaLNIgsIT
mNdasiasie]

a a’/’ dl ¥ o Y ca o
6. [il[51WQUWHﬂTZQUﬁuL@'ﬂuL"H’]ﬂU[’]‘LV\I'ﬂﬁ‘uL@’ﬂi

@

CARE AND CLEANING

1. Many cleansers contain abrasive and chemical substance
which is not suitable for cleaning stainless steel, enamel,
plating or plastic products. You may use mild cleansers or
soaps to clean the surfaces. Wipe any splashes of cleaner
solutions from the surface with clean soft cloth.

. Maintain ventilation in the bathroom, and separate the dry
area from the damp one if conditions permit. Try to open
the door and windows of the bathroom and maintain good
ventilation.

. Kohler bathroom cabinet are dealt with strict procedures for
damp-proof, whose good damp-proof function ensures good
performance even in bathroom of huge humidity. Yet do not
splash and pour water directly on thebathroom cabinet.
Make sure that the bathroom is not over damp and wipe any
splashes from surfaces immediately.

. Clean and wipe cabinet regularly, and wipe the condensation
vapor with dry and soft cloth.

. Ensure that electrical connections for appliances such as
head lamp is insulated wipe mirror surface with chamois
regularly to guarantee the persistent excellent performance.

. Please do not sit, lean or step on the basin cabinet.

Insert the slide door into the wash basin cabinet.

aontlszguiuaeudiuginefiliaas

msgua%’nm LAZMSNIAMNAEDIA

1. HAAATIINANAZ AL SN AN A UNANTBNAN TATILAY
anshidlqvfianieudvlivnzdwmininanuazein wan g
aunulagd auma Tavy visenanasn sauusin 1lEuaninEin
Auazaevisedyilqnaden inaruazgniiulianansinsd
dinAsunARTEIIANaza R aNANSLULRAaEinn

fiarinazfinsiannietnamiesne uendouuiauazdoyitlan
aananiu i dnenenidlntszguazniisiiosiuie
ITUNHBINA

fileiiiaeitiesinadiaiiaaiiamuantmtlaaiuaonas vl
vnunlalitalsg@nsnmnisinanunseadion wilfaule
fiaenniANTuge adnvlafiniy at1a1auTeLNUNAILY
filaitiaeilaonse aevaaauliuilad desynladauawiuly
WAL ANARAUTNNIAINATEIAYTEATILLNEENAINNUEY
HARSTUIIIUN
dnnamonuazanfineitinefillutlszatuasidaliiutiafanfinn
VGBSV ISIE SaM!

fasliiuuladn fiuayouaiainaesgunenlliiin wu Tanl 4a
invinAnuazananuianilunszanfaatinmdag

e oa A = 9 ca -
AU, N Wﬁ\'ﬂLﬁﬂﬂUUu@]Lw@?um'ﬂ?

1144955-X2-B

Kohler Co.




